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Note : Section-A is compulsory. Answer to short answer type 

questions should be completed in around 80 to 100 words 

each. Answer to long answer type questions should be 

completed in around- 800 words. Attempt one question 

each from the Section B, C, D and E.
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SECTION-A

(WS-3T) 

Compulsory Question 
(31 Pl fell 4 VYT)

1. Questions (i) to (vi) carry one mark each and questions 

(vii) to (x) carry two marks each.

(i) The standard deviation of sampling distribution of a 

statistics is known as :

(a) sampling variance (b) standard error

(c) sampling error (d) standard variance.

(ii) Which of the following is not data analysis software?

(a) MS-Excel (b) SPSS

(c) Windows 19 (d) None of these.

(iii) Correlation is limited to a range of.................

(iv) The non-parametric techniques do not have the..........

of the parametric tests.

(v) Biserial r cannot be used in a regression equation.

(True/False)

(vi) For computing Pearson’s r the relationship between 

the two variables have to be rectilinear. (True/False) 

(vii) What do you mean by non-parametric statistics?

(viii) Under what conditions %2-test is being used?

(ix) Write a short note on point biserial correlation.

(x) Write a short note on significance levels. (14)
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3TH (i) $ (vi) 3R^7 3T57 3TF (vii) $ (x)

TIc^F W $7 11
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(ii) PtHfeifeld 3 ^fa-TTT ^IET Wm UN^AR Htf t? 

(^7) KH.K7T -t^T (75) ^.■'ftj^J^T.

(TT) ferstar 19 (^) 3 I

(iii) .........................^7 xrrj ^znr 11

(iv) SWIMfa* $ MIMfcHeh ^PT $7 .....

fl

(v) feMfal4> r ^7T W^R ^hU<U| 3 W^T ^IT

7TW 11 (^c5/3J71rq)

(vi) fTTTfa ^7 r qlHcT^ tl ^7

ftHT Trf^TT I (TRWSmrq)

(vii) 3 37TW W t?

(viii) x2-Trctef°I 3rf^Rff $7 SHPfa f^j

T^rt?

(ix) f^i feq'to' W<r f^ft i

(x) TnsfaRTT -q? W<I ft’qqt IMTsT^ I
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SECTION-B

(!£U4-«0

2. (i) What is biserial and point-biserial correlation? Give
its uses. (8)

(ii) How do we make predictions? What are errors in
prediction? (6)

(i) feqfSRR? w w t? wrm

WRi
(ii) TT wt t? rtHM 3 7ft

3. Calculate Rank Difference Correlation of the following given
data : (14)

I.Q. 101 100 120 105 98 92 100 98 115 100

Score 65 65 69 75 60 58 61 67 71 64

fHHfdfeld W $ ^ft 3RR WIT ^ftfaR :

101 100 120 105 98 92 100 98 115 100

Mimi* 65 65 69 75 60 58 61 67 71 64

SECTION-C 

(tSRJg-'H)

4. (i) What is analysis of variance? Differentiate between

one-way and two-way analysis of variance. (7)
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(ii) Explain linear and curvilinear correlation. What are the 
main features of Karl Pearson’s coefficient of 
correlation? (7)

(i) TOI cFT W t? UMRFfa W TO

(ii) Wk w cishktatq wn wf

fwfa

Tftt?

5. Calculate t of the data given below of the two groups and 
interpret your result :

W&f t 3fk 3TO

N M S.D. r

Group-I 40 38.42 8.60 0.55
Group-II 60 43.51 13.35

N M S.D. r

w-i 40 38.42 8.60
0.55

TP^-II 60 43.51 13.35

SECTION-D 

(W-?)

6. The table below shows the numbers of normals and 
abnormals who chose each of the three possible answers to 
an item on a neurosis questionnaire :
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Yes No ? Total

Normals 15 80 20 115

Abnormals 27 80 8 115

42 160 28 230

Apply chi-square to test whether this item differentiates 

between the two groups. (14)

■’Fft cnfcran $ sffr aromFi qft wtt

t y^l=ld) m 1Wt

■qS 'IT«T 3HR ^Rrft t 'qi qfteFT

U^tT qft^i

ST ? cjpcrl

15 80 20 115

3WIMH 27 80 8 115

42 160 28 230

7. The Spearman's coefficient of correlation between length 

of service and selling efficiency in a group of 12 salesman 

has come out to be 0.80. Test the significance of the

correlation at 0.05 and 0.01 levels. (14)
12 3 -for qft w fasFI $T

Tjsq pfcRfo qq 0.80 TTM f3TT I 0.05 W

0.01 TrRf =FT mt8R
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SECTION-E 

(isnr^-ir)

8. What is SPSS command? Describe its type and function.

(6+8)
cFJT i? W

chlPsi^l

9. Throw light on the major characteristics of computer. Discuss 

the importance of computer in research work. (7+7)

^nr ।
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